SmallView

model

Model

- fields : JTextField()()
— model : Model

+ display(: void

JTextfield II

<<interface>>

+ getColorAt(int, int): Color

+ getlconAt(int, int): String

VAN

SimulationGrid

- agents : Agent(()
- width :int

- height : int

- isTorodial : boolean

+ isOccupied(int, int): boolean

+ isOpen(int, int): boolean

+ getAgentAt(int, int): Agent

+ setAgentAt(int, int, Agent): void
+ getColorAt(int, int): Color

+ getlconAt(int, int): String

Agent
# grid: SimulationGrid
# xPos : int
# yPos: int
grid
+ enterGrid()
+actQ
+icon() : char
Clover Animal
—$ growthRatte: int # weight: int
+ actQ

+ actQ
+icon() : char

# scan(): boolean
# reproduce(): Animal

A

Fox

Rabbit

-$ visualAcuity: int
-$ speed: int
-$ growthRate: int

-$ visualAcuity: int
-$ speed: int
-$ growthRate: int

# reproduce(): Animal ©

# reproduce(): Animal  Q

return new FoxQ);

N return new Rabbit();

N




grid: AgentGrid

Agent

ViewGrid AgentGrid
<<interface>> <<interface>>
+ runCycle( + getAgentAt(Q)
+ setAgentAtQ
PredPrey
grid: ViewGrid
id: ViewGrid
¥ o PredPreyGrid
+$ mainQ

- agents: Agent()()
— textFields : JTextfield()()

+ runCycle(
+ getAgentAtQ
+ setAgentAtQ

JTextfield

# grid: AgentGrid
# xPos : int
# yPos: int

+ enterGridQ
+act(
+icon() : char




screen: JTextfield storedNumber: int() ()

:OneAgent

:PlusAgent

- screen: JTextfield

- screen: JTextfield )
— storedNumber: int()()

— storedNumber: int(()

+ actionPerformed(e: ActionEvent)

+ actionPerformed(e: ActionEvent) <

e _____]-o0

u if (storedNumber(0) == null) { B

storedNumber(0) = new int(1);
storedNumber(0)(0) = Integer.parseint(screen.getText();
screen.setText("1");
}
else
screen.setText(screen.getText() + 1);

if (storedNumber(0) != null) {

int operand1 = storedNumber(0) (0);

int operand?2 = Integer.parselnt(screen.getText();
int sum = operand1 + operand2;
storedNumber(0) = null;

screen.setText(sum);




<<ltem>>

isWeapon(

open(door:Door)

fight(opponent:Character)

A

Shishkebab

,,,,,, orum e

hitPoints: int

nutritionValue: int

isWeapon() ©-------------

isFood(Q) o - _______
isKey() ~ O------------oooq
eatQ) o _________|

open(door:Door) o----------

fight(opponent:Charactery- - -

;
|

|

7777 return true

|

|

|

|

code to increase
player’s health points

code to report failure
at opening door.

code to decrease
other character’s
points

IronKey

CandyKey =

canOpen: HashSet<Door>

nutritionValue: int i

isWeapon() ©------------- r

isFood) o - _______ _
isKeyQ O -
eat) o -1 _____|

open(door:Door) o---------- r-
fight(opponent:Characted- - - -

77777 return false; b

777" | return true,
I

I

|

\ --|return true
I

PlasticKey

canOpen: HashSet<Door>

code to increase
player’s health points

code to open th
door if key fits

isWeapon() O------------- -

isFood) o - _____
isKey)  O---------------A
eat) o - __

open(door:Door) o

fight(opponent:Characte- - -

hitPoints: int

canOpen: HashSet<Door>

isWeapon() o

isFood) o - _________
isKey) o---------------A
eat) o _________|]

open(door:Door) o----------

fight(opponent:Character)- - -

code to kill player ¥

and end game

code to open the
door if key fits

code to decrease
other character’s
points

code to kil player N
77777 and end game

McNugget

nutritionValue: int

isWeapon() ©-------------

isFood() o - _______
isKeyQ  Om--mmmmmm oo
eat) o]

open(door:Door)o----------
fight(opponent:Characten- - -

N
~ 7| retun false; =

code to kill player
and end game

N

code to open th
door if key fits

code to increase
player’s health points

code to report failure
at opening door.

code to kil player

and end game

code to kill player
and end game

N



